4.3 Trigonometric Ratios

If (x,y) is a point on the terminal arm of a circle then the following ratios can be determined:

Reciprocal Trig Ratios
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Example 1: The point (—ié) is on the unit circle and the terminal arm of angle 8. Find the value of

all six trig ratios. P
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Example 2: The point (-3, —8) is on the terminal arm of angle 6. Find the value of all six trig ratios.
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Example 3: Find the exact trig rafio: .
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Example 4: Use a calculator to find the trig ratios (to the nearest thousandth)

a) sin50° S 0.1500

' H ' s = 5. 1588
cos|0D’ - 0.1730

”

b) sec100°

c) ltanﬁ'?rr = =1.15%0
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Practice: p.201 #1d-h, 3, 4ace, 6, 8, 12
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